# CITY OF VIENNA CITY COUNCIL MEETING VIENNA CITY HALL 205 North 4th Street March 15, 2023 6:30 P.M. AGENDA

1.	Mayor Calls Meeting to Order.
2.	Roll Call:
	Hill Moore Owen Pitts Racey Tuey
NEV	W BUSINESS
2	
3.	Omnibus Consent Agenda
	<ul> <li>Approval of the March 1, 2023 Meeting Minutes</li> <li>Approval of the Warrant</li> <li>Approval of Treasurer's Report (Feb)</li> </ul>
	MotionSeconded
	Hill Moore Owen Pitts Racey Tuey
4.	Approval of Liquor License Application for Class D license Robert Smith, Family Pizza-309 East Main Street
	MotionSeconded
	Hill Moore Owen Pitts Racey Tuey
i.	Authorization and Approval of employment for 2023 mowing season (Not to exceed 600 hours)
	MotionSeconded
	Hill Moore Owen Pitts Racey Tuey

	6			500.00		
	Seco					
Hill	Moore	Owen	Pitts	_ Racey	Tuey	
-Set Ra	in Date					
- DJ-\$2	50.00 (Comm	nunity Fund	ds)			
Motion_	Secon	nded				
Hill	_ Moore	Owen	_ Pitts	Racey	Tuev	
2023 M						
- V M D 1/10	otor Fuel Tax	•				
Authori		City of Vie	enna to acc m MFT	ept Horner	& Shifrin a	as consulting en
Authori the 2023	zation for the	City of Vient to perform	m MF I	ept Horner	& Shifrin a	as consulting en
Authorithe 2022  Motion_	zation for the 3 calendar yea	City of Vient to perform	m MF 1			
Authorithe 202:  Motion_ Hill	zation for the 3 calendar yea	City of Vient to perform  onded  Owen	m MF 1  Pitts_	Race	eyTue	
Authorithe 202:  Motion_ HillReview	zation for the calendar year Sec Moore of Maintenar	City of Vient to perform onded  Owen  nce Estimate proval of R	m MF I Pitts_ te for MFT	Race - \$100,955	.00	

9. PUBLIC COMMENT/ADDITION TO THE AGENDA

### **ELECTED/APPOINTED OFFICIALS** 10.

- City Attorney
- Aleatha Wright, City Clerk- City Spring Clean Up, April 24th
- Shane Racey, City Supt
- Michelle Meyers, Treasurer
- Jim Miller, Chief of Police
- Brent Williams, Fire Chief
- City Council
- Steve Penrod, Mayor- Distressed properties update

## 11. Adjournment:

POSTED: 3-13-23 BY: Chhrist

Show Name Vienna, IL Date Monday, July 3, 2023 Show # 513 Event Sponsor Jason Grant (Vienna, IL) Rain Shells Count 411 Show Insurance \$5,000,000 Finale Count 241(241) Notes Permit: Ground Cnt 7 6 Port Fires **Total Count** 659 Total Net Weight 192.5 Lbs. Fireworks Discount 10.00% Total Pyro Weight 192.5 Lbs. Show Total \$13,500.00 Salesperson **Qty Description** Shells 2.5" Shells **Order** 120 T9500 - (WWF) 2.5" Asst Display Shells (60/2=120) Total 120 3" Salutes Order П 15 T9501X - (WWF) 3" Display T Sal (72) Total 15 3" Shells **Order** LS0003 - (WWF) 3" H - Asst Display Shells (36/2) 1/2 w/tail & 1/2 w/o 72 24 T9501 - (WWF) 3" T - Asst Display Shells (36/2) 72 T9501 - (WWF) 3" T - Asst Display Shells (36/2) 72 DT-3B - (WWF) 3" Asst Shells (24 effects 3 of ea) (72) Total 240 4" Shells <u>Order</u> 36 LS0004 - (WWF) 4" C - Asst Display Shells (36) Total 36 **Finale** 2.5" 10s Finale Chains **Order** VG9023N - (WWF) 2.5" 10s Finale Chains 3 chains ea RWB Sal (120) 120 Total 120 3" 10s Finale Chains Order 30 3FCASL - (WWF) 3" 10s Salute Finale Chains (6/10) LD9031ASC ASG - (WWF) 3" 10s Asst Finale Chains NO Delay (6/10) 60 30 LD9031ASC ASG - (WWF) 3" 10s Asst Finale Chains NO Delay (6/10) Total 120 49 shot Cake **Order** GGB186 - (WWF) 1.75" 49s Homeland Waltz (FAN) (1/1) (Duration 26.0 1 Secs.) Note - 245 Breaks Total 1

	,	
49 sho	ot Cake	<u>Order</u>
1	49BCBM - (WWF) 49s BL Tail to Broc. Crown & BL Stars w/BL Stars Mines (2/1) (Duration 25.0 Secs.)	
Total 1	Market Market Commence Commenc	
100 sh	ot Cake	<u>Order</u>
1	CNB24 - (WWF) 100s Brocade & Bouquet (gold) Lg Beautiful Willow Breaks (1/1) (Duration 25.0 Secs.)	
10.00	100WPBR - (WWF) 100s Gold Tail to TI Gold Coconut+BL Stars+Red Strobe w/crackling mines (1/1) (Duration 30.0 Secs.)	
1	LKO-006 - (WWF) 100s R/Gr/BL Tails to Peony w/ Crackling, Slvr Tails to Salutes (2/1) (Duration 90.0 Secs.)	
1	LKO-014 - (WWF) 100s Slvr Tail to Time Rain Willow w/R Micro Strobe (1.2" Bore) 1/1 (Duration 20.0 Secs.)	
Total 4		
150 sh	ot Cake	<u>Order</u>
1	GD-151 - (WWF) 150s Brocade Crown w/falling leaves (1/1) (Fan) (Duration 35.0 Secs.)	
Total 1		
300 sh	ot Cake	<u>Order</u>
1	VGA156 - (WWF) 300s L) RTails C) WTails R) BTails to Tit Sal (W) (1/1) (Duration 40.0 Secs.)	
Total 1		

	Category	<u>Items</u>	Firing Device	Needed	Alt Firing Device	Needed
	100 shot Cake 150 shot Cake	4				
	2.5" 10s Finale Chains	120	2 1/2" X 10 HDPE Rac	12		
	2.5" Shells	120	2 1/2" X 10 HDPE Rac	12		
	3" 10s Finale Chains	120	3" X 10 HDPE Rack	12		
•	3" Salutes	15	3" X 10 HDPE Rack	2		
	3" Shells	240	3" X 10 HDPE Rack	24		
	300 shot Cake	1				
	4" Shells	36	4" X 5 HDPE Rack	8		
	49 shot Cake	2				
	Totals	659	Total Racks Nee	ded = 70		

# AMERICAN PATRIOT PYRO, INC. 910-2300<sup>TH</sup> Ave.

CHESTNUT, IL 62518 217-796-3674

patriotpyro@outlook.com	TA	TAX EXEMPT NUMBER:					
			Please submit a Copy of State Tax-Exempt Letter				
This agreement is made on thisd	ay of,	20,	between American Patriot Pyro, Inc. (APPI) and				
consideration, the receipt and sufficiency of	which is hereby acknowledge	e, the parti	(Customer). For good and valuable es hereto agree as follows: Customer agrees to				
purchase the package display as attached to	this sheet for the sum of \$		Payment shall be as follows:				
\$upon signing of this c substitutions of equal or greater dollar value and equipment to APPI, undamaged, or if d	ontract, and balance of \$\frac{1}{2}\$ in the event that some of the amaged or not returned, to pay	materials a	re unavailable. Customer agrees to return all unused materials				
additional expenses incurred by APPI, or 15 Displays cancelled and NOT rescheduled will cover all labor associated with order process. Customer understands that APPI is not a warranties of any kind or nature with respect or fitness for a particular purpose and are so with respect to the quality of the materials susuch materials. In no event shall APPI be like actual cost of such materials.	here is such a postponement, percent (15%) of the total courthin the same calendar year was beessing, packing & shipping, manufacturer of the materials at to the quality of the material Id "as is." Customer acknowled herein. Customer further table for any loss resulting from	Customer a ntract price vill be char, display se s governed s used. Alledges that acknowled m malfunct	by this agreement. As such, APPI makes no representation or I materials sold hereunder carry no warranty or merchantability it is not relying on any representations or assertions by APPI ges it is relying solely upon its examination and/or testing of ion or non-delivery of materials, in any amount greater than the				
regulation, code or local ordinance of the jur 4. Customer agrees to provide a safe-zone s debris. Those standards call for a safe-zone	rther agrees to secure, at is ex isdiction where the presentati ecurity area for the presentation of 70 feet per inch of shell, w	pense, all pon will take on. This zo	permits and approvals that may be required by any law, e place.  The presentation will take place regarding this permits and approvals that may be required by any law, e place.  The presentation will take place regarding this permits and approvals that may be required by any law, e place.  The presentation will take place regarding this permits and approvals that may be required by any law, e place is a place of 300 feet in any direction. APPI assumes no recess to post appropriate no-entry warning signs near the				
5. Customer agrees to indemnify and hold A under this contract, including, but not limite otherwise). In no event shall APPI be liable obligations herein. It is agreed that Custome liquidated damages in full satisfaction. APP Customer. Customer agrees to reimburse Al 6. If Customer fails to make payments as ca outstanding balance, until paid in full. Time Customer, Customer shall be liable for the payments.	to claims of Customer's empto Customer for any loss of p. r's damages under this contra I is called upon to defend itse PPI for all costs associated wit lled for herein, customer agree is of the essence on this contra ayment of all APPI collection proceedings under this contra	ployees (where the content of the co	ims or demand whatsoever arising out of Customer's activities nether as a worker's compensation claim, third-party claim or ther economics loss, arising out of any claim breach of ed to the sums paid hereunder, which sum shall be deemed to be ny claims made against it as a result of any actions on part of use of that claim, including attorney fees and court cost. two percent (2%) per month late payment fee on any PI is required to initiate collection proceedings against ding attorney fees. Customer agrees that Logan County, Illinois tomer shall hereby agree to submit to the jurisdiction of the				
IN WITNESS WHEREOF. This contract	is executed in duplicate on t	the date sh	own above.				
* A certificate of insurance listing cover	age and additional insured	will be nr	ovided to listed entities upon bid/contract awarded to ill be deemed an additional insured per this contract.				
American Patriot Pyro, Inc. (APPI)							
By: A.P.P.I.		X	Customer (Title if any)				
A.P.P.I.							
NSURANCE: YES OR NO		<u>X</u>	Individually and Personally				
Certificate #	Show Date	e:	Rain Date:				

\*Sign by May 1st and receive 5% in Free Fireworks.

Revised: 01/18/2023

<sup>\*</sup>Payment in full by May 15<sup>th</sup> and receive 5% in Free Fireworks for a total of 10%



Local Public Agency

# Maintenance Engineering to be Performed by a Consulting Engineer



Local Public Agency				County	Section Number
City of Vienna			_	Johnson	23-00000-00-GM
The services to be permaintenance operation	erformed by the con ons (BLR 14222), sl	sulting engineer, per nall consist of the fol	rtaining to the variou lowing:	s items of work include	ed in the estimated cost of the
Investigation maintenance municipalitie body as may 12330) form	es and counties), may reasonably be req	the streets or highwardluded in the mainte sintenance estimate uired; attendance at of the maintenance e	of cost and, if applications of cost and applications of cost and applications of the cost applications of the cost and applications of the cost and applications of the cost and applications of the cost applic	paration of the mainter able, proposal; attenda	the local highway authority) of the nance resolution (BLR 14220 for ance at meetings of the governing quotations, and/or acceptance (BLI itted to IDOT within 3 months of
ENGINEERI Furnishing the deliver and inspection. F	NG INSPECTION s ne engineering field nstall proposal and/ for operations requi	hall include: inspection, including or checking material ring material testing	ensure the testing is	aintenance operations completed by a qualifi	act, material proposal and/or requiring engineering field ed firm.
negotiated preliminary	of that group. The not for the times which	rcentage for each megatiated fee for end	nspection, the engin laintenance group shall linearing inspection to	eer will be paid a nego nown in the "Schedule	entage. Only one base fee can be tiated fee percentage. The of Fees" shall be applied to the group shall be applied to the total strued to include supervision of the
		SCI	HEDULE OF FEES		
Total of all Maintenand	ce Operations:				
= \$20,000 Bas	e Fee	> \$	320,000 Base Fe	e = \$1,250.00	
			PLUS		
Maintenance		Engineering	Engineerin	g Inspection	
Engineering Category	Maximum Fee %	Negotiated Fee %	Maximum Fee %	Negotiated Fee %	Operation(s) to be Inspected
110	NA SOL	NA	NA	NA	NA
IIA IIB	2%	2%	1%	1%	
III	3%	3%	3%	3%	
IV	4%	4%	4%	4%	
	5%	5%	6%	6%	
Selection Act 50 (ILCs Manual. BY: Local Public Agency S	o o torror o toro, and	procedures outlined  Date	BY:	dance with the Local of DEPARTMENT's Bu	Government Professional Service reau of Local Roads and Streets  Date
T.11					
Title			Title		
Vlayor					
			P.E. Seal		Date
Approved:	-				
Regional Engineer, IDC	) [	Date			



## Local Public Agency General Maintenance

**Estimate of Maintenance Costs** 

Submittal	Type	Original

Estimate of Cost for				
Municipality			84-:	-t
Local Public Agency	County	Section Number	lviai Beginning	ntenance Period Ending
City of Vienna	Johnson		01/01/23	12/31/23

## Maintenance Items

				iviaintena	nce Items			
Maintenance Operation	Maint Eng Category	Insp. Req.	Material Categories/ Point of Delivery or Work Performed by an Outside Contractor	Unit	Quantity	Unit Cost	Cost	Total Maintenance Operation Cost
Aggregates	IIA	No	CA-7	TON	400	\$10.00	\$4,000.00	\$4,000.0
		No	CA-6	TON	300	\$10.00	\$3,000.00	\$3,000.0
		No	Sand	TON	500	\$18.00	\$9,000.00	\$9,000.0
Surface Repair & Base	IIA	No	Bam	TON	500	\$42.00	\$21,000.00	\$21,000.0
							72.,000.00	Ψ21,000.0
Regulatory Signs	IIA	No	Metal Sign Post	EA	25	\$70.00	\$1,750.00	\$1,750.0
		No	Metal Sign Post Base	EA	25	\$80.00	\$2,000.00	\$2,000.0
Drainage Repairs	IIB	No	12" Metal Band	EA	15	\$40.00	\$600.00	\$600.00
		No	15" Metal Band	EA	15	\$45.00	\$675.00	\$675.00
		No	18" Metal Band	EA	5	\$50.00	\$250.00	\$250.00
		No	24" Metal Band	EA	3	\$80.00	\$240.00	\$240.00
-		No	12" Metal Culvert	LF	200	\$25.00	\$5,000.00	\$5,000.00
		No	15" Metal Culvert	LF	200	\$55.00	\$11,000.00	\$11,000.00
		No	18" Metal Culvert	LF	100	\$75.00	\$7,500.00	\$7,500.00
		No	12" Metal Tee	EA	4	\$100.00	\$400.00	\$400.00
		No	15" Metal Tee	EA	4	\$120.00	\$480.00	\$480.00
Sidewalk	IIA	No	4" PCC	ŝY	100	0.170		
				31	100	\$150.00	\$15,000.00	\$15,000.00
Reseal	III	No	CA-16	TON	150	\$32.00	\$4,800.00	\$4,800.00
		No I	HFE-150	GAL	3,500	\$3.00	\$10,500.00	\$10,500.00
						Total O	peration Cost	\$97,195.00

#### **Estimate of Maintenance Costs** Submittal Type Original Maintenance Period Local Public Agency County Section Beginning Ending City of Vienna Johnson 23-00000-00-GM 01/01/23 12/31/23 Estimate of Maintenance Costs Summary Maintenance MFT Funds **RBI** Funds Other Funds **Estimated Costs** Local Public Agency Labor Local Public Agency Equipment Materials/Contracts(Non Bid Items) \$21,482.51 \$49,567.49 \$71,050.00 Materials/Deliver & Install/Materials Quotations (Bid Items) \$26,145.00 \$26,145.00 Formal Contract (Bid Items) Maintenance Total \$47,627.51 \$49,567.49 \$97,195.00 Estimated Maintenance Eng Costs Summary **Maintenance Engineering** MFT Funds **RBI** Funds Other Funds **Total Est Costs** Preliminary Engineering \$3,760.00 \$3,760.00 **Engineering Inspection** Material Testing Advertising Bridge Inspection Engineering Maintenance Engineering Total \$3,760.00 \$3,760.00 Total Estimated Maintenance \$51,387.51 \$49,567.49 \$100,955.00 Remarks SUBMITTED Local Public Agency Official Date Title

Regional Engineer

Department of Transportation

Date

Mayor

County Engineer/Superintendent of Highways

Date

**APPROVED** 



## Resolution for Maintenance Under the Illinois Highway Code



		Resolution	Number Resolu	tion Type	Section Nu	ımber
		23-0.	3 Origin	al	23-0000	0-00-GM
BE IT RESOLVED, by the	Coun-	cil	of the	C	ity	of
Vienna	Governing bo					
Name of Local Public		_ minois triat triefe i	s hereby appropriat	led the sum o	1	
One Hundred and Ten Thous	and			Dollars ( 9	\$110,000.00	)
of Motor Fuel Tax funds for the purp	oose of maintaining stre	ets and highways L	nder the applicable			
01/01/23 to 12/3  Beginning Date to Ending						Tay Dodo IIo
BE IT FURTHER RESOLVED, that including supplemental or revised endeduced by the funds during the period as specified	oundes approved in Co	as listed and describ onnection with this r	ed on the approved esolution, are eligib	d Estimate of ble for mainte	Maintenance nance with Mo	Costs, otor Fuel Tax
BE IT FURTHER RESOLVED, that	City	of		Vienn	а	
shall submit within three months after available from the Department, a ce expenditure by the Department under BE IT FURTHER RESOLVED, that to but the Department of Transportation.	rtified statement showirer this appropriation, an	nance period as sta ig expenditures and d	ited above, to the E the balances rema	Department of aining in the fi	f Transportation	ed for
Aleatha Wright		City ocal Public Agency Ty	Clerk in and	I for said	City	1
ofVienn	a	in the State	oe £III::		Local Public Ag	gency Type
Name of Local Pu	blic Agency		f Illinois, and keepe			nereof, as
rovided by statute, do hereby certify	the foregoing to be a t	rue, perfect and cor	nplete copy of a re	solution adop	ted by the	
Council Governing Body Type	of	Vienna Name of Local Public		_at a meetin	g held on C	3/15/23
N TESTIMONY WHEREOF, I have h	nereunto set my hand a	nd seal this	day of Marc	h, 2023 Month,	Year	Date
(SEAL)		Clerk Signat	ure			
						AND TO SHARESTON
			Al	PPROVED	The state of the s	
		Regional En	gineer of Transportation	-	Dat	e